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TH2FE ANSABRDEEEERER (BT - %)
No.[  TETH RRZZE BRmE WARRE | BEREEDE
1 mE™ 93.8 1.0 0.48 6. 81
2| ISF™ 87.2 6.4 0.54 8.51
3| MAET 92.5 8.9 1.56 17.50
4] MR 94.4 12.0 0.97 8.13
5| &FII™ 70. 6 7.8 0. 31 3.92
6| PFIK™ 89.7 7.8 0.40 5.13
| =K 100.0 9.0 0.43 4.76
8| Z=ifmh 87.5 4.9 0 0
O R imHET 80.0 3.4 0 0
10{  ERsHET 0 0 0 0
11 EBRAT A A 100.0 3.4 0 0
12 B FHH 100.0 3.2 0 0
13| #LET 100.0 4.5 0 0
14  FREHET 83.3 3.7 1.22 33.33
15| Uk HT 100.0 6.5 1.63 25.00
16|  EIKHET 100.0 2.0 0 0
17 BI5HE 87.5 4.7 1.16 25.00
18|  HATXHT 96.4 8.7 0. 31 3.57
19( L SHT 97.2 6.8 0.38 5.56
20( ES{EHT 89.6 1.2 0.60 8.33
21 Hx %5 HT 94.4 8.5 0 0
22| LiRET 94.4 1.1 0 0
23| DB EH 100.0 1.5 0 0
24| WA & LHET 100.0 3.5 0.39 11. 11
mEER 92.1 1.2 0.52 7.19
® E 90. 1 5.9 0.34 5.84
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FRZZE=FRIZAER/ ZRBREH *100
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BERGERPE=NATH EH/EFREH *x100
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FRRZPE- - [FAE] 80%LL [BFEE] 90%LE
BERRE. - [FFRE] 11%UT

MNARRRE. .- [FFEE] 0.23%LLE
BERISERE--- [FEE] 2.5%L L




